WEIGHTED SUBSPACES OF HARDY SPACES

HONG OH KIM AND ERN GEUN KWON

1. Introduction. A function f in H^p on the unit disc U of the complex plane has the uniform growth

$$f(z) = O(1 - |z|)^{-1/p}$$

We consider in this paper a subspace H^p_{γ} of H^p with better uniform growth

$$f(z) = O(1 - |z|)^{-\gamma}, \quad 0 < \gamma \le 1/p.$$

For the previous results on H_{γ}^{p} see [5, 6, 7]. We start with proving an inequality on H^{p} which is related to the Hardy-Stein identity (Theorem 2.1) in Section 2. This is applied in the subsequent section to prove some space imbedding theorems related to H_{γ}^{p} (Theorems 3.1 and 3.5). These theorems have some known theorems as their corollaries. Finally we prove some coefficient relations on H_{γ}^{p} in the last section.

The authors wish to thank Professor Patrick Ahern for the helpful conversations during his visit to Korea. Actually he suggested to the first author the possibility of Theorem 2.1 some years ago. They also express the sincere thanks to the referee for the suggestion of rewriting the paper in the context of H_{γ}^{p} .

1.1. H^p and H^p_{γ} . For $0 , the Hardy space <math>H^p$ is the class of those functions f holomorphic in U for which

$$||f||_p = \sup_{0 \le r < 1} M_p(r, f) < \infty,$$

where

$$M_p(r, f) = \left(\int_0^{2\pi} |f(re^{i\theta})|^p \frac{d\theta}{2\pi}\right)^{1/p}.$$

See [2] for the theory of H^p .

For $0 and <math>0 < \gamma \leq 1/p$, H^p_{γ} is defined as the class of those $f \in H^p$ for which

$$f(z) = O(1 - |z|)^{-\gamma}.$$

We note that $H_{1/p}^p = H^p$. For $f \in H_{\gamma}^p$, we define

1074

Received December 15, 1986 and in revised form 1987. This research was partially supported by KOSEF.

$$||f||_{p,\gamma} = \max(||f||_p, \sup_z (1 - |z|)^{\gamma} |f(z)|).$$

It is routine to check that H^p_{γ} $(p \ge 1)$ is a Banach space and H^p_{γ} $(0 a Frechet space. See [5, 6, 7] for more on <math>H^p_{\gamma}$. A different notation is used in [6, 7].

1.2. $A^{p,\alpha}$ and $A^{p,\alpha}_{\gamma}$. For $0 and <math>\alpha > -1$, the weighted Bergman space $A^{p,\alpha}$ is the class of functions f holomorphic in U for which

$$\int_0^1 (1-r)^{\alpha} M_p(r,f)^p dr < \infty.$$

The space $A^{p,\alpha}$ has been extensively studied. See [1, 2, 3, 6, 7, 8, 9] for example. A function $f \in A^{p,\alpha}$ has the uniform growth

$$f(z) = O(1 - |z|)^{-(\alpha+2)/p}$$
.

For $0 < \gamma < (\alpha + 2)/p$, we define

$$A_{\gamma}^{p,\alpha} = \{ f \in A^{p,\alpha} : \sup_{z} (1 - |z|)^{\gamma} | f(z) | < \infty \}.$$

We do not use any linear space theory of $A^{p,\alpha}$ or $A^{p,\alpha}_{\gamma}$ in this paper.

1.3. Fractional integrals. If $f(z) = \sum f_k z^k$ is holomorphic in U, we define the fractional integral $I^{\beta}f(z)$ of order $\beta > 0$ as

$$I^{\beta}f(z) = \frac{1}{\Gamma(\beta)} \int_0^1 \left(\log \frac{1}{\rho}\right)^{\beta-1} f(\rho z) d\rho.$$

See [3, 5].

1.4. For f holomorphic in U and $0 < r \leq 1$, we define f_r as $f_r(z) = f(rz), z \in U$.

1.5. Constants. Throughout this paper C(...) will denote a positive constant depending only on the arguments (...). The magnitude of C(...) may vary from occurrence to occurrence even in the proof of the same theorem.

2. An inequality related to the Hardy-Stein identity. Throughout this section we assume that f is holomorphic in U with f(0) = 0. The Hardy-Stein identity says that, for 0 ,

(1)
$$M_p(r, f)^p = \frac{p^2}{2\pi} \int_0^r \int_0^{2\pi} |f(\rho e^{i\theta})|^{p-2} |f'(\rho e^{i\theta})|^2 \log \frac{r}{\rho} \rho d\rho d\theta$$

See [4, 11]. For $0 and <math>0 < \alpha < \infty$, we set

•
$$J(p, \alpha; f) = \int_0^1 \int_0^{2\pi} |f(\rho e^{i\theta})|^{p-\alpha} |f'(\rho e^{i\theta})|^{\alpha} \left(\log \frac{1}{\rho}\right)^{\alpha-1} \rho d\rho d\theta.$$

By letting $r \rightarrow 1$ in (1), we have

(I)
$$||f||_p^p = \frac{p^2}{2\pi} J(p, 2; f).$$

We prove an inequality related to (I) in the following theorem.

2.1. THEOREM. Let $0 < \alpha \leq 2$ and $\alpha \leq p < \infty$. Then there is a positive constant $C = C(p, \alpha)$ such that

 $||f||_p^p \leq CJ(p, \alpha; f).$

For the proof of Theorem 2.1 we note the following facts whose easy proofs we omit.

(II) If $0 \leq \alpha \leq p$ and f is holomorphic in U then $|f|^{p-\alpha}|f'|^{\alpha}$ is subharmonic in U.

(III) If $0 < \alpha \le p$ then $J(p, \alpha; f_r) \le J(p, \alpha; f), 0 < r \le 1$ (by II).

(IV) For a fixed p, $\log J(p, \alpha; f)$ is a convex function of α ($0 < \alpha < \infty$). That is, if $0 < \alpha \leq \beta \leq \gamma < \infty$ then

 $J(p, \beta; f) \leq J(p, \alpha; f)^{t} J(p, \gamma; f)^{1-t},$

where $t = (\gamma - \beta)/(\gamma - \alpha)$ (by the Hölder's inequality).

We also recall the following results of Littlewood and Paley [9, 12].

(V) If 0 , then there is a positive constant <math>C(p) such that

 $M_p(r, f)^p \leq C(p)J(p, p; f_r).$

- (VI) If $2 \le p < \infty$, then there is a positive constant C(p) such that $J(p, p; f_r) \le C(p)M_p(r, f)^p$.
- 2.2. Proof of Theorem 2.1. Case 1. $\alpha \le 2 \le p$. Set $t = (p 2)/(p \alpha)$. $M_{n}(r, f)^{p} \le C(p)J(p, 2; f_{n})$ (by I)

$$\leq C(p)J(p, \alpha; f_r)^t J(p, p; f_r)^{1-t} \quad \text{(by IV)}$$

$$\leq C(p)J(p, \alpha; f_r)^t M_p(r, f)^{p(1-t)} \quad \text{(by VI)}.$$

Therefore

$$M_{p}(r, f)^{p} \leq C(p, \alpha)J(p, \alpha; f_{r})$$
$$\leq C(p, \alpha)J(p, \alpha; f) \quad (by III)$$

so that

$$||f||_p^p \leq C(p, \alpha)J(p, \alpha; f).$$

Case 2. $\alpha \leq p \leq 2$. Set $t = (2 - p)/(2 - \alpha)$.

$$M_p(r, f)^p \leq C(p)J(p, p; f_r) \quad \text{(by V)}$$

$$\leq C(p)J(p, \alpha; f_r)^t J(p, 2; f_r)^{1-t} \quad \text{(by IV)}$$

$$\leq C(p)J(p, \alpha; f_r)^t M_p(r, f)^{p(1-t)} \quad \text{(by I)}.$$

Therefore

$$M_p(r, f)^p \leq C(p, \alpha)J(p, \alpha; f_r)$$
$$\leq C(p, \alpha)J(p, \alpha; f) \quad (by III)$$

so that

$$||f||_p^p \leq C(p, \alpha) J(p, \alpha; f).$$

This completes the proof.

3. Imbedding theorems. For f holomorphic in U, we use the following notations:

$$M_{\gamma}(\theta) = M_{\gamma}(f; \theta) = \sup_{0 \le r < 1} (1 - r)^{\gamma} |f(re^{i\theta})|,$$

and

$$M(\theta) = M(f; \theta) = \sup_{0 \le r < 1} |f(re^{i\theta})|.$$

We use a technique of Ahern [5] to prove

3.1. THEOREM. Let 0 < p, q, $s < \infty$, $q > \alpha > 0$, $\gamma > 0$, $p \ge (q - \alpha)s$ and let

 $u = p\alpha s/(p - (q - \alpha)s).$

Then there exists a positive constant $C = C(p, q, s, \alpha, \gamma)$ such that if $f \in H^p$ with $M_{\gamma} \in L^u(\partial U)$ then

(1)
$$\int_{0}^{2\pi} \left(\int_{0}^{1} |f(re^{i\theta})|^{q} (1-r)^{\alpha\gamma-1} dr \right)^{s} d\theta \leq C ||f||_{p}^{(q-\alpha)s} ||M_{\gamma}||_{L^{u}}^{\alpha s}$$

Proof. Assume $f \neq 0$. If $f \in H^p$ then $M(\theta) < \infty$ for almost every θ by the complex maximal theorem. For such a θ , we have

$$0 < M_{\gamma}(\theta)/M(\theta) \leq 1.$$

Setting $\rho = 1 - (M_{\gamma}(\theta)/M(\theta))^{1/\gamma}$ we have, for almost every θ ,

$$\int_{0}^{1} |f(re^{i\theta})|^{q} (1-r)^{\alpha\gamma-1} dr$$

$$\leq M_{\gamma}(\theta)^{q} \int_{0}^{\rho} (1-r)^{\gamma(\alpha-q)-1} dr + M(\theta)^{q} \int_{\rho}^{1} (1-r)^{\alpha\gamma-1} dr$$

$$\leq C(q, \alpha, \gamma) M(\theta)^{q-\alpha} M_{\gamma}(\theta)^{\alpha}.$$

Now, if we apply Hölder's inequality and the complex maximal theorem, we have

(1)
$$\leq C(q, \alpha, \gamma) \left(\int_{0}^{2\pi} M(\theta)^{p} d\theta \right)^{(q-\alpha)s/p} \left(\int_{0}^{2\pi} M_{\gamma}(\theta)^{u} d\theta \right)^{\alpha s/u}$$

$$\leq C(p, q, s, \alpha, \gamma) ||f||_{p}^{(q-\alpha)s} ||M_{\gamma}||_{L^{u}}^{\alpha s}.$$

This completes the proof.

3.2. COROLLARY. Let $0 , <math>q > \alpha > 0$ and let $0 < \gamma \le 1/p$. Then there is a positive constant $C = C(p, q, \alpha, \gamma)$ such that if $f \in H^p_{\gamma}$ then

$$\int_0^{2\pi} \left(\int_0^1 |f(re^{i\theta})|^q (1-r)^{\alpha\gamma-1} dr \right)^{p/(q-\alpha)} d\theta \leq C ||f||_{p,\gamma}^{pq/(q-\alpha)}.$$

Proof. We note that

$$||M_{\gamma}||_{L^{\infty}} = \sup_{z \in U} (1 - |z|)^{\gamma} |f(z)|.$$

The corollary is now a special case of Theorem 3.1 where $s = p/(q - \alpha)$.

3.3. COROLLARY [5, Theorem B]. If $0 and <math>0 < \gamma \le 1/p$ then

 $H^p_{\gamma} \subset A^{q,\gamma(q-p)-1}_{\gamma}.$

Proof. Set $\alpha = q - p$ in Corollary 3.2.

3.4. COROLLARY [5, Theorem 2.1]. If $f \in H^p_{\gamma}$ then

$$I^{\beta}f \in H^{\gamma p/(\gamma-\beta)}_{\gamma-\beta}$$

where $0 < \beta < \gamma \leq 1/p$.

Proof. If we set $\alpha = \beta/\gamma$ and q = 1 in Corollary 3.2, then we get

$$\int_0^{2\pi} \left(\int_0^1 |f(re^{i\theta})| (1-r)^{\beta-1} dr \right)^{\gamma p/(\gamma-\beta)} d\theta \leq C(p, \beta, \gamma) ||f||_{p,\gamma}^{\gamma p/(\gamma-\beta)}.$$

If $0 < \beta \leq 1$, then

$$\left(\log\frac{1}{r}\right)^{\beta-1} \leq (1-r)^{\beta-1};$$

so that

$$|I^{\beta}f(re^{i\theta})| \leq \frac{1}{\Gamma(\beta)} \int_{0}^{1} (1-\rho)^{\beta-1} |f(\rho re^{i\theta})| d\rho.$$

Therefore

$$I^{\beta}f \in H^{\gamma p/(\gamma-\beta)}_{\gamma-\beta}.$$

If $\beta > 1$, we can write $\beta = \beta_1 + \beta_2 + \ldots + \beta_n$ with $0 < \beta_1, \beta_2, \ldots$, $\beta_n < 1$. The successive applications of the above argument with β_1 , β_2, \ldots, β_n proves the corollary.

Theorems 2.1 and 3.1 are applied in the proof of the following theorem.

3.5. THEOREM. Let $0 < s < p < \infty$, $0 < \gamma < s/(p - s)$ and let $\gamma \leq 1/p$. If

$$f' \in A^{s,s-\gamma(p-s)-1}_{\gamma+1}$$

then $f \in H^p_{\gamma}$.

Proof. We may assume f(0) = 0. We set $\delta = \gamma(p - s)$ and choose $0 < \epsilon < \min(1, s)$. By Hölder's inequality with the conjugate indices $s/(s - \epsilon)$ and s/ϵ , we have

(2)
$$\int_{0}^{1} (1-\rho)^{\epsilon-1} |f_{r}(\rho e^{i\theta})|^{p-\epsilon} |f_{r}'(\rho e^{i\theta})|^{\epsilon} \rho d\rho$$

$$\leq \left(\int_{0}^{1} (1-\rho)^{\delta \epsilon/(s-\epsilon)} |f_{r}(\rho e^{i\theta})|^{(p-\epsilon)s/(s-\epsilon)} (1-\rho)^{-1} \rho d\rho\right)^{(s-\epsilon)/s}$$

$$\times \left(\int_{0}^{1} (1-\rho)^{s-\delta} |f_{r}'(\rho e^{i\theta})|^{s} (1-\rho)^{-1} \rho d\rho\right)^{\epsilon/s}.$$

If we apply Hölder's inequality again to (2), we get

(3)
$$\int_{0}^{2\pi} \int_{0}^{1} (1-\rho)^{\epsilon-1} |f_{r}(\rho e^{i\theta})|^{p-\epsilon} |f_{r}'(\rho e^{i\theta})|^{\epsilon} \rho d\rho d\theta$$
$$\leq \left(\int_{0}^{2\pi} \int_{0}^{1} (1-\rho)^{\delta\epsilon/(s-\epsilon)-1} |f_{r}(\rho e^{i\theta})|^{(p-\epsilon)s/(s-\epsilon)} \rho d\rho d\theta\right)^{(s-\epsilon)/s}$$
$$\times \left(\int_{0}^{2\pi} \int_{0}^{1} (1-\rho)^{s-\delta-1} |f_{r}'(\rho e^{i\theta})|^{s} \rho d\rho d\theta\right)^{\epsilon/s}$$
$$= (A)^{(s-\epsilon)/s} (B)^{\epsilon/s}.$$

If we set $\alpha = (p - s)\epsilon/(s - \epsilon) > 0$ and $q = (p - \epsilon)s/(s - \epsilon)$ then $p/(q - \alpha) = 1$; so by Theorem 3.1

$$(A) \leq \int_0^{2\pi} \int_0^1 (1-\rho)^{\alpha\gamma-1} |f_r(\rho e^{i\theta})|^q d\rho d\theta$$

$$\leq C(p, q, \alpha, \gamma) M_p(r, f)^p ||M_\gamma||_{L^{\infty}}^\alpha.$$

Since

$$\left(\log\frac{1}{\rho}\right)^{\epsilon-1} \leq (1-\rho)^{\epsilon-1},$$

we have, by (3) and Theorem 2.1,

$$M_p(r, f)^p \leq C(p, q, \alpha, \gamma)^{(s-\epsilon)/s} M_p(r, f)^{p(s-\epsilon)/s} ||M_{\gamma}||_{L^{\infty}}^{\alpha(s-\epsilon)/s} B^{\epsilon/s}.$$

Therefore

$$\begin{split} M_{p}(r, f)^{p} \\ &\leq C(p, q, \alpha, \gamma)^{(s-\epsilon)/\epsilon} ||M_{\gamma}||_{L^{\infty}}^{\alpha(s-\epsilon)/\epsilon} B \\ &\leq C(p, s, \gamma) ||M_{\gamma}||_{L^{\infty}}^{\alpha(s-\epsilon)/\epsilon} \int_{0}^{1} (1-\rho)^{s-\gamma(p-s)-1} M_{s}(\rho, f')^{s} d\rho. \end{split}$$

Thus

$$||f||_p^p \leq C(p, s, \gamma) ||M_{\gamma}||_{L^{\infty}}^{\alpha(s-\epsilon)/\epsilon} \int_0^1 (1-\rho)^{s-\gamma(p-s)-1} M_s(\rho, f')^s d\rho.$$

Note that

$$f'(z) = O(1 - |z|)^{-(\gamma+1)}$$

implies

$$f(z) = O(1 - |z|)^{-\gamma}.$$

This completes the proof.

The special case $\gamma = 1/p$ gives an interesting corollary, which can also be derived from a result of Flett [3, Theorem 2 (i)].

3.6. COROLLARY Let 0 and let <math>p/(1 + p) < s < p. If $f' \in A^{s,s(p+1)/p-2}$,

then $f \in H^p$.

The following corollary extends a result of Kim [5] for all p > 0.

3.7. COROLLARY. Let $0 , <math>\alpha > -1$ and let $(\alpha + 1)/p < \beta < \gamma \leq (\alpha + 2)/p$. If $f \in A_{\gamma}^{p,\alpha}$, then

$$I^{\beta}f \in H^{q}_{\gamma-\beta}$$

where $q = (\gamma p - \alpha - 1)/(\gamma - \beta)$.

Proof. The case 0 is proved in [5, Corollary 2.3]. Assume <math>p > 2. By a result of Hardy and Littlewood (see [5] for example),

$$(I^{\beta}f)' \in A^{p,\alpha-(\beta-1)p}_{\gamma-\beta+1},$$

since we can check that $\alpha - (\beta - 1)p > -1$. By Theorem 3.5, we have $I^{\beta}f \in H^q$ where

$$p - (\gamma - \beta)(q - p) - 1 = \alpha - (\beta - 1)p,$$

i. e., $q = (\gamma p - \alpha - 1)/(\gamma - \beta)$. This completes the proof.

https://doi.org/10.4153/CJM-1988-044-2 Published online by Cambridge University Press

1080

4. Taylor coefficients. We will prove two theorems on the Taylor coefficients of H^p_{γ} functions. We use the following theorem of M. Mateljević and M. Pavlović [1, 10]. The same technique was used in [8].

THEOREM A. If s, $\alpha > 0$ then there are positive constants $A(s, \alpha)$ and $B(s, \alpha)$ such that if $a_k \ge 0, k = 1, 2, 3, ...$

$$A(s, \alpha) \sum_{0}^{\infty} 2^{-n\alpha} \left(\sum_{k \in I_n} a_k \right)^s \leq \int_{0}^{1} (1 - r)^{\alpha - 1} \left(\sum_{k=1}^{\infty} a_k r^k \right)^s dr$$
$$\leq B(s, \alpha) \sum_{0}^{\infty} 2^{-n\alpha} \left(\sum_{k \in I_n} a_k \right)^s$$

where $I_n = \{k: 2^n \leq k < 2^{n+1}\}.$

4.1. THEOREM. Let $2 \leq s , <math>1/s + 1/t = 1$ and let $0 < \gamma \leq 1/p$. Then there is a positive constant $C = C(p, s, \gamma)$ such that if

$$f(z) = \sum_{1}^{\infty} f_k z^k = O(1 - |z|)^{-\gamma}$$

then

(1)
$$||f||_{p,\gamma} \leq C \sum_{0}^{\infty} \left(\sum_{I_n} (k^{\gamma p(1/s - 1/p)} |f_k|)^t \right)^{s/t}$$
.

Proof. Since

$$f'(z) = \sum_{1}^{\infty} k f_k z^{k-1},$$

we have, by the Hausdorff-Young inequality [2, Theorem 6.1],

$$M_s(r, f') \leq \sum_{1}^{\infty} (|kf_k r^{k-1}|^t)^{1/t}.$$

By Theorem A, we get

$$\begin{split} \int_{0}^{1} (1-r)^{\alpha-1} M_{s}(r,f')^{s} dr &\leq \int_{0}^{1} (1-r)^{\alpha-1} (\sum |kf_{k}r^{k-1}|^{t})^{s/t} \\ &\leq B(s,\alpha) \sum_{0}^{\infty} 2^{-n\alpha} \left(\sum_{I_{n}} |kf_{k}|^{t} \right)^{s/t} \\ &\leq B(s,\alpha) \sum_{0}^{\infty} \left(\sum_{I_{n}} |k^{1-\alpha/s}f_{k}|^{t} \right)^{s/t}. \end{split}$$

If we set $\alpha = s - \gamma(p - s)$, we have (1) for some positive constant $C(p, s, \gamma)$ by Theorem 3.5.

4.2. THEOREM. Let $0 , <math>1 \leq q < 2$, 1/q + 1/s = 1, and let $0 < \gamma \leq 1/p$. Then there is a positive constant $C = C(p, q, \gamma)$ such that if

$$f(z) = \sum_{1}^{\infty} f_k z^k \in H^p_{\gamma}$$

then

$$\sum_{0}^{\infty} \left(\sum_{I_n} |k^{\gamma p(1/p-1/q)} f_k|^s \right)^{q/s} \leq C ||f||_{p,\gamma}^p.$$

Proof. By Corollary 3.3, we have

$$\int_0^1 (1-r)^{\gamma(q-p)-1} M_q(r,f)^q dr \leq C(p,q,\gamma) ||f||_{p,\gamma}^p.$$

By the Hausdorff-Young inequality [2, Theorem 6.1],

$$\left(\sum_{1}^{\infty} |f_k r^k|^s\right)^{1/s} \leq M_q(r, f).$$

By Theorem A again, we have

$$\begin{split} &\int_{0}^{1} (1-r)^{\gamma(q-p)-1} M_{q}(r,f)^{q} dr \\ & \geq \int_{0}^{1} (1-r)^{\gamma(q-p)-1} \Big(\sum_{1}^{\infty} |f_{k}r^{k}|^{s} \Big)^{q/s} \\ & \geq C(p,q,\gamma) \sum_{0}^{\infty} 2^{-n\gamma(q-p)} \Big(\sum_{I_{n}} |f_{k}|^{s} \Big)^{q/s} \\ & \geq C(p,q,\gamma) \sum_{0}^{\infty} \Big(\sum_{I_{n}} |k^{\gamma p(1/p-1/q)} f_{k}|^{s} \Big)^{q/s}. \end{split}$$

The theorem follows.

References

- 1. P. Ahern and M. Jevtić, *Duality and multipliers for mixed norm spaces*, Michigan Math J. 30 (1983), 53-63.
- 2. P. L. Duren, Theory of H^p spaces (Academic Press, New York, 1970).
- 3. T. M. Flett, The dual of an inequality of Hardy and Littlewood and some related inequalities, J. Math. Analysis and Appl. 38 (1972), 746-765.
- 4. W. K. Hayman, Multivalent functions (Cambridge Univ. Press, London, 1958).

HARDY SPACES

- 5. H. O. Kim, Derivatives of Blaschke products, Pacific J. Math. 114 (1984), 175-191.
- H. O. Kim, S. M. Kim and E. G. Kwon, A note on a space H^{p,a} of holomorphic functions, Bull. Australian Math. Soc. 35 (1987), 471-479.
- 7. A note on the space $H^{p,a}$, Comm. Korean Math. Soc. 2 (1987), 47-52.
- 8. E. G. Kwon, A note on the coefficients of mixed normed spaces, Bull. Australian Math. Soc. 33 (1986), 253-260.
- 9. J. E. Littlewood and R. E. A. C. Paley, *Theorems on Fourier series and power series (II)*, Proc. London Math. Soc. (2) 42 (1937), 52-89.
- 10. M. Mateljević and M. Pavlović, L^p-behavior of power series with positive coefficients and Hardy spaces, Proc. Amer. Math. Soc. 87 (1983), 309-316.
- 11. P. Stein, On a theorem of Riesz, J. London Math. Soc. 8 (1933), 242-247.
- 12. A. Zygmund, Trigonometric series, 2nd rev. ed. (Cambridge Univ. Press, New York, 1959).

Korea Advanced Institute of Science and Technology, Seoul, Korea; Andong National University, Andong, Korea